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'Addi'rion with Decimals

Solve the equations.

1.453+99=___  1.963+288=__
2.67+397=____ 2.574+99=__

3.168+175=__ 3.412+631=__
4.92+88=___ 4.923+932=__
5.16.3+188=___  5.743+83H5=_

6.2.53+45= 6.421+96 =

7.95.6 +8.64 = 7.47.3 +529 =

8.17.7 + 22.3 = 8 454 + 86 =
0.895+92-= Q0 362 +4.78 =

10.6.3+755=___ 10.6.63+82.1=
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'Addi'rion with Decimals

Solve the equations.

1.45.3+9.9=55.2 1.9.63+288=1251

2.67+39.7=-464 2 574+99:=1564
3.16.8+175=34.3 3412 +6.31=1043
4 92+88=18 4 92.3+9.32=10162

h.16.3+18.8 =351 5 743 +835=157.8

6.253+45=7.03 6 421 +96=13.81
7.95.6+8.64=-10424 7 473+529=1002
8.17.7 + 22.3 = 40 8.4b4 +86 =54

0.895+92-=-18.15 9 362 +478 = 4098

10.6.3+755=1385 10 663 +82.1=88.73
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